
AN
US
HK
A 
AC
AD
EM
Y

Directions (1 – 5) : In each of the following
questions, select the related letter/word/

number from the given alternatives.

funsZ'k (1 & 5) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
1. TIGER : INDIA : : ? : GREECE

ck?k  % Hkkjr %% \ % xzhl
(A) DEER/fgj.k (B) DOLPHIN/MkfYiQu
(C) ELEPHANT/gkFkh (D) GOAT/cdjh

2. January : 34 : : February :  ?

tuojh % 34 % % iQjojh % \
(A) 35 (B) 26
(C) 53 (D) 62

3. Writing : Pencil : : Painting : ?

ys[kuh  % isfUly % % isafVx % \
(A) Colour/jax (B) Painter/fp=kdkj
(C) Indigo/uhy (D) Brush/cqz'k

4. 72 : 18 : : 34 : ?

(A) 36 (B) 49
(C) 56 (D) 94

5. MORP : ORPM : : CSTN : ?

(A) STNB (B) RTNC
(C) EVRK (D) PQMC

6. What is the differernce between number.
of triangles and number of squares in the
given figures?

fn, x, vkòQfr;ksa esa f=kHkqtks rFkk oxksZa dh la[;k osQ chp dk
varj D;k gS\

 

(A) 4 (B) 3

(C) 1 (D) 5
Directions (7 – 10) : Find the odd word/letters/
number pair/number from the given

alternatives.

funsZ'k (7 & 10)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
7. (A) 221 (B) 187

(C) 169 (D) 289

8. (A) Badrinath/cnzhukFk
(B) Brihdeeswar/c`gns'oj
(C) Somnath/lkseukFk
(D) Tajmahal/rktegy

9. (A) Aeroplane/gokbZ tgkt
(B) Bus/cl
(C) Auto/vkWVks
(D) Truck/Vªd

10. (A) MADAM (B) CIVIC
(C) ARORA (D) DALDA

11. Arrange the below given words as per their
order in the dictionary.

fuEufyf[kr 'kCnksa dks vaxzsth 'kCn osQ vuqlkj ozQe esa j[ksaA
1. Application 2. Appreciation
3. Apparel 4. Apparatus
5. Appeal

(A) 3 4 1 5 2

(B) 4 3 5 1 2

(C) 4 3 1 5 2

(D) 3 1 5 4 2
12. If 101101 = 45

 110010 = 50
 101011 = 43
Then, 110111 = ?

;fn 101101 = 45

 110010 = 50
 101011 = 43

 rks] 110111 = ?

(A) 55 (B) 52

(C) 41 (D) 46

13. From the given alternatives select the word
which can't be formed using the letters of
the given word.
A B N E G A T I N G

fuEu fodYiksa esa ls ml 'kCn dk p;u djsa] tks fn, x, 'kCn
esa 'kkfey v{kjksa ls ugha cuk;k tk ldrk gSA
(A) TANGING (B) GANNET

(C) INITIATE (D) EATING
14. From the below given responses, choose the

responses which shows meaningful order
of the following words.

fuEu fodYiksa esa ls ml fodYi dk p;u djsa tks fn, x,
'kCnksa osQ lkFkZd ozQe dks n'kkZrk gSA
(1) Line/js[kk (2) Rhombus/leprqHkqZt
(3) Octagon/v"VHkqt (4) Triangle/f=kHkqt
(5) Hexapon/i"VHkqt
(A) 1 5  4 2 3

(B) 1 4  2 3 5

(C) 1 4  2 5 3

(D) 3 5  2 1 4

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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Direction (15-17) : In question no 15 to 17,
select the missing number from the give
responses.

funsZ'k (15-17) : iz'u la[;k 15 ls 17 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A

15.
8 7 6 5

2 2 5 2

3 9 4 8

497 ? 376 1459

(A) 3961 (B) 3682

(C) 4874 (D) 3739

16. 8 7 1

3 8 9

4 ? 2

(A) 6 (B) 7

(C) 8 (D) 9

17. 21

14 
67

100 33 ? 24

18
5737

(A) 29 (B) 32

(C) 14 (D) 27

18. Which one of the following diagram
represents the correct relationship among
Governor, State, Country.

fuEufyf[kr esa ls dkSu&lh vkoQ̀fr jkT;iky] jkT; rFkk ns'k
osQ chp lacaèk dks n'kkZrh gSA

(A) (B)

(C) (D)

Directions (19-20) : In the following questions,
a series is given with one terms missing.
Choose the correct alternative from the given
ones that will complete the series:

funsZ'k (19-20) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
19. 23, 35, 57, 711,?

(A) 1115 (B) 1315
(C) 1317 (D) 1117

20. 30, 37,48,61, 78,97,120,?
(A) 135 (B) 155
(C) 157 (D) 149

21. Shalu walked 6m towards east, then turned
left and walked 8m, again turned right and
walked  5m. In which direction is she from

starting point?

'kkyw iwoZ dh vksj 6eh- pyh] fiQj ck,a eqM+h rFkk 8eh- pyh]
fiQj nk,a eqM+h rFkk 5eh- pyhA izkjafHkd fcUnq ls vc og fdl
fn'kk esa gS\
(A) North-east/mÙkj&iwoZ
(B) South-west/nf{k.k&if'pe
(C) North-west/mÙkj&if'pe
(D) South-east/ nf{k.k&iwoZ

22. Which answer figure will complete the
pattern in the question figure?

dkSu&lh mÙkj vkd`fr iz'u vkd`fr ds izfr:i dks iwjk
djsxh\
Question figures:/ iz'u vkÑfr%

Answer figures:/ mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

23. From the answer figures (A), (B), (C) and (D),
which figure can be formed from the pieces
given in the question figure.

irk yxk,a fd iz'u vkd`fr esa fn, x, VqdM+ksa dks feykdj
mÙkj vkd`fr;ka (A), (B), (C) rFkk (D) esa ls] dkSu&lh
vkd`fr cuk;h tk ldrh gSA
Question figure:/ iz'u vkÑfr%

Answer figures:/ mÙkj vkÑfr;k¡%

(A) (B) (C) (D)
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24. Which of the answer figure is the right

mirror image of the question figure ?

nh xbZ mÙkj vkÑfr;ksa esa ls dkSu lh vkÑfr iz'u vkÑfr dk
lgh niZ.k izfrfcEc gSa\
Question Figure:

iz'u vkÑfr%

M

N

Answer Figures:

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

25. From the given answer figures, select the
one in which the question figure is
embedded.

nh xbZ mÙkj vkÑfr;ksa esa ls] ml vkÑfr dks pqfu, ftlesa
iz'u vkÑfr vUrfuZfgr gSA
Question figure:/

iz'u vkÑfr %

Answer figures:/ mÙkj vkÑfr;k¡ %

(A) (B) (C) (D)
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26. Who among the following laid the foundation

of Rashtrakuta Empire?

fuEu esa fdlus jk"VªowQV lkezkT; dh uhao j[kh Fkh\

(A) Amostghavarsha I/vkekslr?ko"kZ&I

(B) Dantidurga/nfUrn~xZ

(C) Dhruva/èkqoz

(D) Krishna I/oQ̀".kk&I

27. Which one of the following is the characteri-

stic climate of the Tropical Savannah

Region?

fuEu esa ls m".kdfVcaèkh; lokuk {ks=kksa esa tyok;q dh fo'ks"krk
gS\

(A) Rainfall throughout the year/lkyksa Hkj o"kkZ

(B)  Rainfall in winter only/osQoy lfnZ;ksa esa o"kkZ

(C) An extremely short dry season/cgqr gh
de 'kq"d ekSle

(D) A definite dry and wet season/,d fuf'pr
'kq"d vkSj ueh okyk ekSle

28. Match List-I with List-II and select the

correct answer using the codes given below

the lists:

lwph&I dks lwph& ls lqesfyr dj uhps fn, x, lwfp;ksa osQ
izòf"V;ksa esa ekStwnk owQVksa dk mi;ksx djosQ lgh mÙkj dk p;u
djsaA

   List-I/lwph-I List-II/lwph-II

  (Article of the (Content)(lkexzh)
  Constitution)

(lafoèkku osQ vuqPNsn)

a. Article 54/vuqPNsn 54 1. Election of the

President of India

Hkkjr osQ jk"Vªifr dk
pquko

b. Article 75/vuqPNsn 75 2. Appointment of

the Prime Mini-

ster

izèkkuea=kh dh fu;qfDr

c. Article 155/vuqPNsn 155 3. Appointment of

the Governor of a

State

jkT; osQ jkT;iky dh
fu;qfDr

Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
d. Article 164/vuqPNsn 164 4. Appointment of

the Chief Mini-
ster and Council

of Ministers of a
State

eq[;ea=kh vkSj jkT; osQ ea=kh
ifj"knksa dh fu;qfDr

5. Composition of

Legislative
Assemblies

foèkkulHkk dh ljapuk

          a   b   c   d

(A) 1   2   3   4

(B) 1   2   4   5

(C) 2   1   3   5

(D) 2   1   4   3

29. Scheduled Banks have to be registered with:

vuqlwfpr cSadks dks iath;u fdlosQ ikl djkuk gksrk gS\

(A) SEBI/lsch

(B) RBI/Hkkjrh; fjT+koZ cSad

(C) FINACE MINISTRY/foÙk ea=kky;

(D) SBI/Hkkjrh; LVsV cSad
30. Which one of the following is a vector

quantity?

fuEu esa ls dkSu&lk ,d lfn'k jkf'k gS\

(A) Momentum/xfr (B) Pressure/ncko

(C) Energy/mtkZ (D) Work/dke
31. Which one of the following types of waves

are used in a night vision apparatus?

fuEu esa ls dkSu&lh rajxs jkr nwjnf'kZrk midj.k esa mi;ksx dh
tkrh gS\

(A) Radio waves/jsfM;ksa rjaxs

(B) Microwaves/lw{e rjaxs

(C) Infra-red waves/bUizQksjM rjaxs

(D) None of the above/mijksDr esa ls dksbZ ugha
32. Given below are the names of four energy

crops. Which one of them can be cultivated
for ethanol ?

uhps pkj mtkZ iQlyksa osQ uke fn, x, gSA buesa ls dkSu&lh
[ksrh bFksukWy osQ fy, dh tkrh gS\

(A) Jatropha /t=kksiQk (B) Maize/eDdk

(C) Pongamia /djat (D) Sunflower/lwjteq[kh
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33. How much fund has been allocated to the
National Security Council Secretariat
(NSCS) for fiscal year 2017-18?

jk"Vªh; lqj{kk ifj"kn lfpoky; osQ fy, o"kZ 2017&18 esa
fdruk vuqnku vkoafVr fd;k x;k gS\
(A) ` 343 crore/djksM+
(B) ` 353 crore/djksM+

(C) ` 333 crore/djksM+
(D) ` 343 crore/djksM+

34. Lakshya Sen is associated with which
sports?

y{; lsu fdl [ksy osQ lkFk tqM+s gq, gS\

(A) Badminton/cSMfeaVu
(B) Cricket/fozQosQV

(C) Wushu/oq'kq
(D) Chess/'krajt

35. Which one of the following is the largest
Committee of the Parliament?

fuEu esa ls dkSu&lh ,d laln dh lcls cM+h lfefr gS\

(A) The Committee on Public Accounts/yksd
ys[kk lfefr

(B) The Committee on Estimates/izkDdyu
lfefr

(C) The Committee on Public Undertakings

/ljdkjh miozQe lacaèkh lfefr
(D) The Committee on Petitions/;kfpdk lfefr

36. The loss of Qandhar was a big blow to the
Mughal empire from the view point of :

oaQèkkj dh gkj dk eqxy lkezkT; osQ fy, ,d cM+k >Vdk Fkk]
blosQ n`f"Vdks.k Fks&
(A) Natural resources/izkoQ̀frd lalkèku

(B) Buffer territory/eè;orhZ bykosQ
(C) Communication/laioZQ
(D) Strategic stronghold/j.kuhfr lacaèkh osQUnz

37. Which one of the following is not a
Biosphere reserve?

fuEu esa ls dkSu&lk ,d tSoeaMy vkjf{kr {ks=k ugha gS\
(A) Agasthyamalai/vxLF;keykbZ
(B) Nallamalai/uYykeykbZ

(C) Nilgiri/uhyfxfj
(D) Panchmarhi/ipe<+h

38. A computer works on a____number system.

oaQI;wVj_____la[;k i¼fr ij dke djrk gSA
(A) Binary/ckbujh

(B) Octal/vkWDVy
(C) Decimal/Msfley
(D) Hexadecimal/gsDlkMsfley

39. The fixed cost on such factor of production
which are neither hired nor bought by the
firm is called:

mRiknu osQ ftu dkjdksa dks iQeZ u fdjk;s ij ysrh gS vkSj
u gh [kjhnrh gS] mu ij fuèkkZfjr dher dks dgrs gS&

(A) Social cost/lkekftd ykxr

(B) Opportunity cost/volj ykxr

(C) Economic cost/vkfFkZd ykxr

(D) Surchared cost/vkjksfir ykxr
40. An air bubble in water will act like a:

ikuh esa gokbZ cqycqyk fdl :i esa dk;Z djsxk\

(A) Convex mirror/mÙky niZ.k

(B) Convex lens/mÙky ysal

(C) Concave mirror/vory niZ.k

(D) Concave lens/vory ysal
41. Which one of the following is a mixed

fertilizer?

fuEu esa dkSu&lk ,d fefJr moZjd gS\

(A) Urea/;wfj;k

(B) CAN/lh , ,u

(C) Ammonium Sulphate/veksfu;e lYisQV

(D) NPK/,u ih osQ
42. The Panda belongs to the same family as

that of:

ikaMk fdl ,d gh ifjokj osQ varxZr :i gS%

(A) Bear/Hkkyw (B) Cat/fcYyh

(C) Dog/oqQÙkk (D) Rabbit/[kjxks'k
43. Which state government has recently

introduced third gender category in school
exams?

fdl jkT; ljdkj us gky gh esa LowQy dh ijh{kk esa rhljs fyax
Js.kh 'kq: dh gS\

(A) Rajasthan/jktLFkku

(B) Bihar/fcgkj

(C) Odisha/vksfM'kk

(D) West Bengal/if'pe caxky
44. The first venture of Gandhi in all-India

politics was the:

vf[ky Hkkjrh; jktuhfr esa xk¡èkh dk igyk lkgfld dk;Z Fkk\

(A) Non-Cooperation Movement/vlg;k sx
vkanksyu

(B) Rowlatt Satyagraha/jkWysV lR;kxzg

(C) Champaran Movement/paikj.k vaknksyu

(D) Dandi March/nkaMh ekpZ
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45. Match List-I with List-II and select the

correct answer using the codes given below
the lists:

lwph&I dks lwph& ls lqesfyr dj uhps fn, x, lwfp;ksa osQ
izòf"V;ksa esa ekStwnk owQVksa dk mi;ksx djosQ lgh mÙkj dk p;u
djsaA

List-I (lwph&I) List-II (lwph&II)

Agricultural   (Foremost
produce) products)

(oQ̀f"k mRikn) (lokZfèkd mRiknd)

a. Cotton/dikl            1. Madhya Pradesh

eè; izns'k

b. Gram/puk          2. Gujarat/xqtjkr

c. Black pepper 3. West Bengal

/dkyh fepZ if'pe caxky

d. Pineapple/vUuukl  4.  Kerala/osQjy

a   b    c   d

(A) 2   1   4   3

(B) 2   1   3   4

(C) 1   2   4   3

(D) 1   2   3   4

46. Panchayati Raj was first introduced in India
in October, 1959 in:

iapk;rh jkt igyh ckj vDVwcj 1959 esa ykxw fd;k x;k
Fkk&

(A) Rajasthan/jktLFkku esa

(B) Tamil Nadu/rfeyukMq esa

(C) Kerala/osQjy esa

(D) Karnataka/dukZVd esa

47. If an Indian citizen hires a flat on rent in
Melbourne then it is included in:

dksbZ Hkkjrh; ukxfjd esyckWuZ esa ÝySV fdjk;s ij ys rks og
fdlesa 'kkfey fd;k tk,xk\
(A) GNP of India/Hkkjr osQ GNP esa
(B) GDP of India/Hkkjr osQ GDP esa
(C) GNP of Australia/vkWLVªsfy;k osQ GNP esa
(D) GDP of Australia/vkWLVªsfy;k osQ GDP esa

48. In an atom, the order of filling up of the
orbitals is governed by :

fdlh ijek.kq osQ d{k dks Hkjus dk ozQe fdl fl¼kar osQ }kjk
fu;fer gS\
(A) Aufbau’s principle/vkSiQckW fl¼kar
(B) Heisenberg’s uncertainty principle

/gkbtsucxZ vfuf'prrk fl¼kar
(C) Hund’s rule/gqaMh fl¼kar
(D) Pauli’s exclusion principle

/ikmQyh viotZu fl¼kar
49. Outside the nucleus DNA is found in:

U;qfDy; osQ ckgj DNA dgk¡ feyrk gS\
(A) Golgi bodies/xksYthdk;
(B) Ribosome/jkbckslkse
(C) Endoplasmic reticulum/vUrnzZO;h tkfydk
(D) Mitochonderia/ekbVªksdkWfUMª;k

50. The Indian Coast Guard (ICG) raising day
is celebrated on which date?

Hkkjrh; rV j{kd (vkbZlhth) LFkkiuk fnol dc euk;k
tkrk gS\
(A) 4th February/4 iQjojh
(B) 1st February/1 iQjojh
(C) 3rd February/3 iQjojh
(D) 6th February/6 iQjojh
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk

51. The income of A is 16
2

3
% less than B, then

the income of B is_____ more than A.

A dh vk; B ls 16
2

3
% de gS] rks B dh vk; A

ls_____ vfèkd gSA

(A) 16
2

3
% (B) 20%

(C) 25% (D) 8
1

3
%

52. If the height of a right circular cone is
increased by 100% and the radius of the
base is reduced by 50%, then the volume of
the cone:

fdlh leoÙ̀kh; 'kadq dh Å¡pkbZ 100% ls c<+kbZ tkrh gSA
rFkk vk/kj dh f=kT;k 50% ls de dh tkrh gSA rks 'kadq dk
vk;ru gksxk&

(A) remains same/leku jgsxk

(B) decreases by 25%/25% deh

(C) increases by 25%/25% of̀¼

(D) decreases by 50%/50% deh
53. A bought 180 dozen pencils at ̀  10 a dozen.

His overhead expenses were ` 200. He sold
them at ` 0.80 each. What was his profit or
loss percent?

A ` 10 izfr ntZu dh nj ls 180 ntZu isafly [kjhnkA
mldk vfrfjDr O;; ̀  200 FkkA mlus bUgsa ̀  0.80 izR;sd
dh nj ls cspkA mldk ykHk ;k gkfu izfr'kr Kkr djsaA
(A) 13.6% profit/ykHk
(B) 12.8% loss/gkfu
(C) 13.6% loss/gkfu
(D) 12.8% profit/ykHk

54. The profit earned by selling an article for

` 360 is equal to the loss incurred, when

the same article is sold for ` 240. What

should be the sale price of the article for

making 30% percent profit?

fdlh oLrq dks ` 360 esa cspus ls gqvk ykHk] mls ` 240

esa cspus ls gq, gkfu ds cjkcj gSA ml oLrq dks 30% ds ykHk
ij cspus ds fy, foØ; ewY; D;k gksuk pkfg,\
(A) ` 420 (B) ` 390

(C) ` 360 (D) ` 440

55. If tan  = 1, then the value of

3 3

9 sin 11cos

5 sin –3 cos 4 cos

 

  
 is

;fn tan  = 1, rks 
3 3

9 sin 11cos

5 sin –3 cos 4 cos

 

  
 dk

eku Kkr djsaaA
(A) 2 (B) 3

(C) 4 (D) 5

56. If x + 
1

x
 = 3 , then the value of x30 +x24 + x18 +

x12 + x6 + 1 is

;fn x + 
1

x
 = 3 , rks x30 +x24 + x18 + x12 + x6 +1dk

eku Kkr djsaA
(A) 3 (B) 2

(C) 1 (D) 0

57. Rahul agrees to work in a shop. He
demanded Rs 800 for a day. The owner
agrees to pay him the same salary with a
condition that if he is absent for a day, then
double the salary of a day will be deducted.
If he was present for 24 days in feb 2015,
then what amount  has he got as a salary?

jkgqy fdlh nqdku esa dke djus dks rS;kj gqvkA mlus izfrfnu
osQ ̀  800 ekxsaA ekfyd ,d 'krZ osQ lkFk mls mruk gh osru
nsus dks rS;kj gksrk gS] oks ;g gS fd vxj og 1 fnu ugha
vk;k] rks mlosQ izfrfnu osQ osru ls nks xquk jkf'k dkV yh
tk,xhA ;fn og iQjojh 2016 esa 24 fnuksa osQ fy, mifLFkr
Fkk] rks mlus osru osQ :i esa fdruh jkf'k ik;h\
(A) `11,200 (B) `12,800

(C) `13,400 (D) `14,600

58. P takes 4 hours more time than Q to
complete a work. Working together they
completed the work in 2 hours 40 min. Q
alone could complete the work in

P fdlh dk;Z dks djus esa Q dh vis{kk 4 ?k.Vk vf/d le;
ysrk gSA nksuksa lkFk feydj mls 2 ?k.Vk 40 feuV esa dj
ldrs gSA Q vdsys ml dk;Z dks fdrus le; dj ldrk gS\

(A) 3 hrs 20 min/3 ?k.Vk 20 feuV

(B) 6 hrs /6 ?k.Vk

(C) 4 hrs/4 ?k.Vk

(D) 2 hrs 40 min/2 ?k.Vk 40 feuV
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59. Three sets of English, Mathematics and

Science books containing 24, 36, 64 books

respectively have to be stacked in such a

way that all the books are stored subject-

wise and the height of each stack is the

same. Total number of stacks will be

rhu leqPp;ksa Øe'k% 24, 36, 64 dh fdrkcsa tks vaxzsth]

xf.kr rFkk foKku dh gSA bl izdkj ls j[kuk gS fd lHkh

fdrkcsa fo"k; ds vuqlkj j[kk tk, rFkk lHkh iqLrdksa dh <s+j

dh Å¡pkbZ leku gksA bl izdkj fdrus iqLrdksa dh <s+j cusaxsa\

(A) 24 (B) 31

(C) 21 (D) 34

60. A cistern has 3 pipes A, B and C. A and B

can fill it in 3 hours and 4 hours

respectively, while C can empty the

completely filled cistern in 1 hour. If the

pipes are opened in order at 3, 4 and 5 p.m.

respectively, at what time will the cistern

be empty?

,d Vadh esa rhu uy A, B rFkk C yxs gq, gSA A rFkk B

Vadh dks Øe'k% 3 ?k.Vs rFkk 4 ?k.Vs esa Hkj ldrs gS] tcfd

C iwjh Hkjh gqbZ Vadh dks 1 ?k.Vs esa [kkyh dj ldrk gSA ;fn

uy 'kke dks Øe'k% 3, 4 rFkk 5 cts [kksys tk,] rks fdl

le; Vadh [kkyh gks tk,xh\

(A) 7 : 28 p.m./vijkg.k

(B) 8 : 24 p.m./vijkg.k

(C) 7 : 12 p.m./vijkg.k

(D) 8 : 46 p.m./vijkg.k

61. The total number of students in a school

was 240. The ratio between boys and girls

was 7 : 5. After some days, 20 girls joined

the school and some boys left the school and

new ratio between boys and girls became

1:1 . The number of boys who left the school

is:

,d fo|ky; ds dqy Nk=kksa dh la[;k 240 FkhA yM+ds rFkk

yM+fd;ksa dk vuqikr 7 : 5 FkkA dqN fnuksa ckn 20 yM+fd;ksa

us fo|ky; esa izos'k fy;k rFkk dqN yM+dksa us fo|ky; NksM+

fn;kA bl izdkj yM+dsa rFkk yM+fd;ksa dk u;k vuqikr 1:1

gks x;kA fo|ky; NksM+us okys yM+dksa dh la[;k Kkr djsaA

(A) 50 (B) 20

(C) 30 (D) 60

62. A cone of height 14 cm and base radius 3
cm is carved from a rectangular block of
wood 10 cm × 15 cm × 1 cm. Find the
percentage of wood wasted.

fdlh 10 lseha- × 15 lseha- × 1 lseha- vk;ke ds vk;rkdkj
ydM+h ds VqdM+s ls 14 lseha- Å¡pkbZ rFkk 3 lseha- vk/kj dh
f=kT;k okyh 'kadq dks dkVk tkrk gSA O;FkZ gksus okys ydM+h dk
izfr'kr Kkr djsaA
(A) 21% (B) 24%

(C) 18% (D) 12%

63. Find the ratio of the LCM and the HCF of
the numbers 324 and 72.

la[;k,¡ 324 rFkk 72 ds y-l- rFkk e-l- dk vuqikr Kkr
djsaA
(A) 9 : 1 (B) 18 : 1

(C) 6 : 1 (D) 12 : 1

64. A boat covers a certain distance
downstream in 1 hour, while it comes back
in 2 hours. If the speed of the stream be 4
km/h, then what is the speed of the boat
in still water?

,d uko /kjk dh fn'kk esa ,d fuf'pr nwjh 1 ?k.Vs esa r;
djrh gS] tcfd okil 2 ?k.Vs esa vkrh gSA ;fn /kjk dh pky
4 fdeh@?k.Vk gS] rks 'kkar ty esa uko dh pky Kkr djsaA

(A) 12 km/h/fdeh-@?k.Vk

(B) 14 km/h/fdeh-@?k.Vk

(C) 16 km/h/fdeh-@?k.Vk

(D) 18 km/h/fdeh-@?k.Vk
65. If  +  = 90°, then the value of (1 – sin2)

(1 – cos2) × (1 + cot2) (1 + tan2) is

;fn  +  = 90°, rks (1 – sin2) (1 – cos2) ×

(1 + cot2) (1 + tan2) dk eku Kkr djsaA
(A) 0 (B) 1

(C) –1 (D) 2

66. A certain sum of money yields ` 3783 as
compound interest in 3 years at 5% per
annum. The sum is

,d fuf'pr /ujkf'k dk 5% izfr o"kZ dh nj ls 3 o"kZ esa
pØo`f¼ C;kt ` 3783 gks tkrk gSA og jkf'k gS&
(A) ` 12000 (B) ` 18000

(C) ` 24000 (D) ` 28000

67. A loan of ̀  820 at 5% per annum compound
interest is to be repaid in two equal annual
installments at the end of every year. Find
the amount of each installment.

` 820 dk ½.k 5% izfro"kZ pØo`f¼ C;kt dh nj ij nks
leku fdLrksa esa pqdkuk gSA izR;sd fdLr dh jkf'k Kkr djsaA
(A) ` 41 (B) ` 410

(C) ` 441 (D) ` 340
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68. Two stations A and B are 120 km apart on a

straight railway line. One train starts from

A at 8 a.m. and travels towards B at 40 km

per hour. Another train starts from B at 11

a.m. and travels towards A at 50 km/h. At

what time will they meet?

nks LVs'ku A ,oa B, ,d nwljs ls 120 fdeh- dh nwjh ij ,d
lhèkh jsyos ykbu ij fLFkr gSA ,d jsyxkM+h LVs'ku A ls 8
cts iwokZg~u esa jokuk gksrh gS vkSj 40 fdeh-@?k.Vk dh jÝrkj
ls B dh vksj ;k=kk djrh gSA nwljh jsyxkM+h LVs'ku B ls 11

cts iwokZg~u esa jokuk gksrh gS vkSj A dh vksj 50 fdeh-@?k.Vk
dh jÝrkj ls ;k=kk djrh gSA ;s nksuksa jsyxkfM+;k¡ ,d&nwljs ls
fdl le; feysaxh\

(A) 10.00 a.m./iwokZg~u

(B) 10.00 p.m./vijkg~u

(C) 11.00 p.m./vijkg~u

(D) 11.00 a.m./iwokZg~u
69. 4 years ago, the age of M was 12 years more

than age of S. If the sum of their present

ages is 24, then what was the age of M 6

years back?

4 o"kZ iwoZ] M dh vk;q S dh vk;q ls 12 o"kZ vf/d FkhA
vxj nksuksa dh orZeku vk;q dk ;ksx 24 o"kZ gS] rks 6 o"kZ
iwoZ M dh vk;q fdruh Fkh\

(A) 12 years/o"kZ (B) 16 years/o"kZ

(C) 20 years/o"kZ (D) 24 years/o"kZ
70. A bag contains ` 1320 in the form of ` 10, `

5 and ` 2 coins. The number of coins are in
ratio 8 : 4 : 5. Find the number of ` 5 coins.

,d FkSys esa ̀  10, ̀  5 vkSj ̀  2 ds flDds gSaA ftudk ;ksx
` 1320 gSA flDdksa dh la[;kvksa dk vuqikr Øe'k% 8 : 4 : 5

gSA FkSys esa ` 5 ds flDdks dh la[;k Kkr djsa\
(A) 32 (B) 64

(C) 52 (D) 48

71. If 3% of A's income = 4% of B's income

= 5% of C's income. If sum of their income

is ` 1410, then B's income is

;fn A dh vk; dk 3% = B dh vk; dk 4% = C dh

vk; dk 5% gSA ;fn mudh vk; dk dqy ;ksx

` 1410 gks] rks B dh vk; gksxh
(A) ` 360 (B) ` 300

(C) ` 450 (D) ` 420

72. A number being divided by 47 gives

remainder 13. If the number is divided by

17, the remainder will be:

,d la[;k dks 47 ls foHkkftr djus ij 13 'ks"k jgrk gSA
;fn la[;k dks 17 ls foHkkftr fd;k tk, rks 'ks"k gksxk&
(A) 6 (B) 7

(C) 8 (D) 9

Directions (73-75): Study the bar diagram given

below carefully and answer the following

questions based on it.

funsZ'k (73&75)% fn;s x;s naM vkjs[k dk è;kuiwoZd vè;;u
djsa rFkk bu ij vk/kfjr fuEu iz'uksa ds mÙkj nsa&
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73. The birth-rate in which city is 50% more

than that in city A ?

fdl 'kgj esa tUe nj 'kgj A ls 50» vf/d gS \

(A) City B/'kgj B (B) City C/'kgj C

(C) City D/'kgj D (D) City E/ 'kgj E
74. The birth-rate in City C is how many times

the birth-rate in City D ?

'kgj C esa tUe nj 'kgj D ls tUe nj dk fdruk xquk gS&
(A) 1.875 (B) 2.25

(C) 3.5 (D) 2.5

75. What is the ratio of birth-rate in City D and

City F ?

'kgj D rFkk 'kgj F osQ tUe nj dk vuqikr D;k gS\
(A) 2 : 3 (B) 5 : 2

(C) 2 : 5 (D) 3 : 2
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Part - IV (English Language)

Direction : In Question nos. 76 to 79 some part
of the sentences have errors and some are
correct. Find out which part of a sentence has
an error and blacken the oval [ ]
corresponding to the appropriate letter (A), (B),
(C). If a sentence is free from error, blacken the
oval corresponding to (D) in the Answer Sheet.
76. If a thing (A)/ is worth doing at all (B)/ it is

worth done well. (C)/No error (D)
77. Considering about these facts (A)/ the

principal has offered (B)/ him a seat. (C)/
No error. (D)

78. It (A)/ was raining (B)/like cats and dogs.
(C)/ No error. (D)

79. I courteously asked him (A)/ where was he
going (B)/ but he did not reply.(C)/ No. error.
(D)/

Directions : In Question nos. 80 to 82,
sentences given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval [ ] in the
Answer Sheet.
80. Can you pay______ all these articles.

(A) out (B) of
(C) for (D) off

81. Mrs. Ramsay  did not know whether Miss
Jane knew_______.
(A) swimming (B) to swim
(C) how to swim (D) how to swimming

82. He _____ the role of the organization in
creating environmental awareness among
the people.
(A) collaborated (B) commanded
(C) contrasted (D) commended

Directions : In question nos. 83, out  of  the
four alternatives, choose the one which best

expresses the meaning of the given word.

83. MAYHEM

(A) Jubilation (B) Havoc

(C) Excitement (D) Defeat

Directions : In question nos. 84, choose the

word opposite in meaning to the given word.

84. SACROSANCT

(A) Irreligious

(B) Unethical

(C) Irreverent

(D) Unholy

Directions : In question nos. 85, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.

Find the word spelt correct/wrong and mark

your answer in the Answer Sheet.

85. (A) Asspersion (B) Voluptuous

(C) Equestrain (D) Voguei

Direction : In Question nos. 86 to 88, four

alternative are given for the Idiom/Phrase in

bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.

86. Egg on your face

(A) To praise someone

(B) To beat someone

(C) To look foolish or embarrassed

(D) To get very excited

87. Batten down the hatches

(A) To prepare for trouble

(B) To get ready for the party

(C) Busy in the studies

(D) Quarrel with someone

88. Reduce to ashes

(A) In a close relationship

(B) To work hard

(C) Very critical condition

(D) Destroyed and made useless

Direction: In Question nos. 89 to 92, a

sentence/ a part of the sentence is italicised

in underlined. Below are given alternatives to

the italicised part at (A), (B), (C) which may

improve the sentence. Choose the correct

alternative. In case no improvement is needed

your answer is (D). Mark your answer in the

Answer Sheet.

89. The man disappeared after he was rescuing

a boy from drowning.

(A) was rescued (B) has been rescued

(C) had rescued (D) No improvement

90. The chairman with the other member of

the board are touring Europe these days.

(A) have been on touring

(B) is touring

(C) have toured

(D) No improvement
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91. You must accustom yourself with new ideas.

(A) accustomed with

(B) accustom to

(C) accustom yourself to

(D) No improvement

92. I didn't go to office because I was ill.
(A) felt (B) had become
(C) had felt (D) No improvement

Direction : In Question nos. 93 to 95, in the
following question, out of the four alternatives,
choose the one which can be substituted for
the given sentence.
93. One who does not get tired easily

(A) Novice (B) Chauffer
(C) Indefatigable (D) Boorish

94. An annual calendar with positions of stars
(A) Almanac (B) Constellation
(C) Celestial (D) Starship

95. A person having same name as another
(A) Lapidist (B) Pseudo name
(C) Knight man (D) Namesake

Direction (Q. No- 96 - 100) : In these question
you have two brief passages with six questions
following the passage. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

Passage – 2
Vacationing on a motorcycle, you see things in a
way that is completely different from any other.
In a car you are always in a compartment, and
because you are used to it you do not realise that
through that car window everything you see is
just more TV. You are a passive observer and it
is all moving by you boringly in a frame. On a
motorcycle, however, the frame is gone. You are
completely in contact with it all. You are in the
scene, not just watching it anymore, and the
sense of presence is overwhelming.

96. The writer likes travelling on the motorcycle

what is the most likely reason for this?

(A) The motorcycle has no windows.

(B) The motorcycle does not go as fast as a

car.

(C) As the traveller is used to cars

travelling by motorcycle is a change.

(D) Travelling by motorcycle, the write feels

that he is part of the scenery.

97. Which of the following statements is closest

to the truth?

(A) The writer does not like TV as it gives

a narrow view of things.

(B) The writer likes TV but he does not like

watching it form car windows.

(C) The writer does not like TV because the

picture is in a frame.

(D) The writer does not like TV because the

programmes are boring.

98. "In a car you are always in a compartment,

and because you are used to it you do not

realise that...... ." In this sentence, 'it' refers

to

(A) travelling in a car.

(B) always being in a compartment, e.g.

one's room, office.

(C) seeing the scenery through the window

frame.

(D) seeing so much TV at home.

99. In the last sentence, the writer talks of a

'sense of presence'. He is referring to the

presence of

(A) his own self as part of the scene.

(B) the time that is now passing.

(C) the scene and the beauty.

(D) senses with which one feels.

100. The word 'overwhelming' means

(A) very strong

(B) unavoidable

(C) interesting

(D) humorous
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